‘icnml:nar'@dcl

accessories & hardware for metal fittings

art. 401

Wheel Y groove 1 bearing

N
\

&y

» Components to fix
» Adequately strengthen the areas anchoring the door and/
or structure / frame.

Responsibly dispose of the product and of its packaging re-
specting the local legislations of the Country of installation.

N
75

-‘ Sp. .
L L -

P4

o

—

-

2

om

i | :l:@ ®
©
<92,
C
cod. (] pz/pcs C oG L sp bullone cusc binario portata

401.40 40 12 16 @33 3 12 M8x30 1 - 60 kg.
401.50 50 12 16 @37 4 13 M8x30 1 - 80 kg.
401.60 60 12 24 @44 4 17 M10x45 1 - 100 kg.
401.70 70 6 33 250 4 20 M14x70 1 906 190 kg.
401.80 80 6 33 260 4 20 M14x70 1 906 200 kg.
401.90 90 6 33 @70 4 21 M14x70 1 906 210 kg.
401.100 100 6 33 280 4 21 M14x70 1 906 230 kg.
401.120 120 4 33 @98 4 24 M14x70 1 906 250 kg.
401.140 140 4 43 @116 4 24 M16x70 1 906 280 kg.
401.160 160 2 43 @136 4 25 M16x70 1 906 300 kg.
401.200 200 2 43 2176 4 25 M16x70 1 906 340 kg.
. — Sliding gates accessories Galvanized steel components
o —

Check the product every 6/12 months.

In case of anomalies, prevent the usage of the hinge and
the installed product must be checked by professional per-
sonnel.

The company reserves the right to make technical as well as aesthetic changes without previous notice.
All responsibility due to an inappropriate use of the product is declined.
All drawings, photos, trademarks, logos, are of exclusive Combi Arialdo’s property. All uses not expressively authorized by the company will be prosecuted.

MOD.7.3.4 - Scheda prodotto - Rev.A




accessories

Aldo

r metal fittings

art. 401

Wheel Y groove 1 bearing

MOD.7.3.4 - Scheda prodotto - Rev.A



